A\

FISHBON Eé}‘/}?@& INSTALLATION INSTRUCTIONS

OFFROAD

PART Ne. FB25480

L
7] e 2018+ Jeep® JL Wrangler &
2020+ Jeep® JT Gladiator

Center Console Molle Panels

O

VIDEO AVAILABLE

111l

LRLLLee

REQUIRED TOOLS KIT CONTAINS QTyY
Ratchet Drivers Side Molle Panel 1
Punch or Marker Passengers Side Molle Panel 1
10mm & 11mm Wrench M6 Washer 6
5/32” Hex Bit M6 Button Head Hex Drive Screw 6
11/32” Drill Bit or a M6 Flange Nut 6
Step Drill Bit M6 Rivet Nut 2

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



A\

é‘ﬁ%\) INSTALLATION INSTRUCTIONS
FISHBONE (/@& I ———
o

OFFROAD :
2018+ Jeep® JL Wrangler &
2020+ Jeep® JT Gladiator
Center Console Molle Panels

1) PREPARING FOR YOUR INSTALL 2) DRILL OUT YOUR HOLES
Hold your molle panel up to your center console and Once you have made your markings, take your
line up the top of your molle panel with the seam on 11/32” drill bit and drill a hole in each of your marked
the plastic panel. locations.

ey

3) INSTALL YOUR HARDWARE
After drilling your holes, align your molle panel with
the holes on your center console.

For ease of install, we provide a rivet nut for the
upper-most rear hole. If you prefer not to use the
rivet nut, a normal nut is provided for this location
also.

Once you have your molle panel in place, take a
punch or marker and mark where the molle panels
holes will be on the plastic panel.

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



A\

é‘%j INSTALLATION INSTRUCTIONS
FISHBONE «C@ B SIS
> o

OFFROAD DX
2018+ Jeep® JL Wrangler &
2020+ Jeep® JT Gladiator
Center Console Molle Panels

After the rivet nut is secured into the center console
plastic, you can move to the front hole where you
will take one of your included nuts and slide it under
your plastic panel where your screws will install.

Once you have your nut in place, take one of your
included washers and screws and insert it into the
hole with the nut. Tighten it with a 10mm wrench
and 5/32” hex bit. Repeat steps 1-3 for the passenger
side.

4) ENJOY YOUR NEW CENTER CONSOLE MOLLE
PANELS!

990 W. PINE LAKE RD., SUITE 2, NORTH LIMA, OHIO 44452 330.423.6446 WWW.FISHBONEOFFROAD.COM



